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MATH%SYNTAX:!How%my%math%should%look.!
1.!In!pencil!
2.!Copy!the!problems!
3.!One!equal!sign,!or!inequality!sign,!per!line!
4.!Line%up%equal%signs!
!!!!a.!Expressions:!down!the!left!side!
!!!!b.!Equations:!down!the!middle!
!!!!c.!Inequalities:!down!the!middle!
5.!Show%work!(like!my!teacher!showed!me!in!class)!
6.!Box%answers!
7.!Skip%a%line!between!problems!
8.!Work%down!the!page.!When!I!get!to!the!!
!!!!bottom,!I!start!a!new!column!at!the!top.!

!
Example%of%Homework%with%Perfect%Syntax:%
Heading!(like!my!teacher!wants)!!
Assignment:!page!45;!numbers!9N13!
!
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13.!The!Area!of!a!Triangle!is!15!square!feet.!!!!!!!!
!!!!!!!The!height!of!the!triangle!is!5!feet.!What!!
!!!!!!!!is!the!base?!
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